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maximize minimize 120FXHWNEZ2ODFEATNTERL
511 + 425 52 — 4z n+m=1 = pn+n>1l, —n—m>-1
subject to subject to . IS
1521 + 11zy <1650 x 10% | | —1521 — 11wy > —1650 x 10° ét@“ﬂ%{%@q%bt#ﬁﬁwﬁﬁ 23
102, + 143y < 1400 x 102 102, — 1day > —1400 x 10;’: 1<0 = >0 (3 )
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maximize minimize
51 + 4xo =511 — 4x9
subject to subject to

1521 + 11zy < 1650 x 103
1021 + 1429 < 1400 x 103 | |10z + 142 + 24 =1400 x 10

921 + 2025 < 1800 x 103 921 + 2075 + x5 =1800 x 10
T 2 0 T1,I2 > 0
To >0 x3,%4,25 > 0

152, + 11z + 23 =1650 x 103
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minimize
—5IL'1 — 4:82
subject to
—152; — 112y > —1650 x 10°
—10z; — 1425 > —1400 x 10°
—921 — 2025 > —1800 x 10°
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—53:1 — 4:82
subject to
1521 —11xe—x3=—1650x 10>
1021 — 1429 — 24 = —1400 x 10°
921 — 2029 — x5 = —1800 % 10°
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minimize
—5x1 — 4x9
subject to
1521 + 11z + 23 =1650 x 103
1021 + 14@o + x4 =1400 x 10°
921 + 20z + x5 =1800 x 10°
T1,22 >0
x3, 24,25 > 0
1.3D0DARATEFEITHAER,
2B FREAZEE . EREEED D,
Bl 36 21, 12,23, ’C%#’L I, o= R L T,
152, + 1129 + o3 = 1650 x 10° 2, = 1400 x 10°/37
10z, + 142, — 1400 x 10® x3 = 2700 x 10 /37
921 + 2013 — 1800 x 10° x3 = 10350 x 10°/37
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1650 1400 1800 0
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minimize —600x; — 50029

E%_ELE_—I :_ ﬁmj_é%%ﬁgg-l-ﬁFﬂ%o);ﬁ%ﬁ*%z%ﬁz%ﬁ L/fd:i(\l\o subject to 31;1 + 11;2 + 11:3 — 45000
minimize  —600x; — 500x5 1z, + 229 + 1z4 = 40000 *1,T2,23,24 >0
®

subject to —3z; — 1z9 > —45000
—x1 — 229 > —40000

1,20 20
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minimize  —600x; — 5002
_ ©) ®
subject to 3z; + 1zy + x3 = 45000 4 X 3
lzy + 229 + x4 = 40000 109 = =6
x1,$2,$3,$420 ]. >< 2
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minimize —600x; — 500x9 minimize —600x; — 50029
subject to 3z + 129 = 45000 subject to 3z - + 1xzs = 45000
1z + 229 = 40000 Z1,%2 >0 1z, ! = 40000 *1, x3 =0
D34, + 125 = 45000 @ D32, + 12 = 45000 @
@ ® ®3x1 + 1lxz = 45000 ®

1x1 + Ox3 = 40000
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minimize —600x; — 500x9
subject to 3z - = 45000

1z, + 1z4 = 40000 1, 4 20

3,!'1 | ],3';1 = IrJ{]UU
L2y + 0z = 40000

® ®
3[L’1 + 0[L’4 = 45000
1lzy 4+ 1ay = 40000
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minimize —600x; — 50029
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minimize —600x; — 500x9
subject to 129 = 45000

21’2 —I— 1[L’4 = 40000 T2,
D32, + 12 = 45000 @12, + 124 = 45000
121 + 220 = 40000 225 + 023 = 40000

1‘420

©1332 + 0564 = 45000

32, + lzs = 45000

L2y + 0z3 = 40000

© ®
3x1 + 0x4 = 45000
I.F'| } I,F'| — 1”““”

subject to lao + 13 = 45000
214 = 40000 x9,23 =0

D34, + 120 = 45000 @15 + 125 = 45000

L2y + 225 = 40000 225 + 0zs = 40000
®.'_’1_r| + 1az = 45000 ®

lay + 0z3 = 40000
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3x1 + 0x, = 45000
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minimize —600x; —

subject to
L2y + 229 = 40000

3x1 + 1y = 45000

12, + 023 = 40000
©

3x1 + 0x, = 45000
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500z
+ 1z3 = 45000
+ 1lz4 = 40000

@12y + 124 = 45000

225 + 0x5 = 40000

o + Oy = 45000
t 1z, = 40000

las + 0xy4 = 45000
Ozs + 1z4 = 40000
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minimize —600x; — 500x9

subject to 3z1 + 1xg + 1a3

1oy + 229

D3, + 124 = 45000
121 4 25 = 40000

®3x1 + 1xz = 45000
1x1 + Ox3 = 40000

®

3[L’1 + 0[L’4 = 45000
1lzy 4+ 1ay = 40000

= 45000
+ 1xg = 40000 Z1,22,23,24 >0

@12y + 125 = 45000
Yy + 015 = 40000

©1332 + 0564 = 45000
25E2 + 1.1’4 = 40000

®
173 + Ozq = 45000
O3 + Lzs = 40000

BRRA3: MHAYICLBAE

minimize —600x; — 50029
subject to 3z; + 1xo + la3
1z, + 229

D3, + 125 = 45000
121 4 25 = 40000
71 = 10000

9 = 15000

®3x1 + lxzs = 45000
1x1 + Ox3 = 40000
x1 = 40000

xT —=
® ®
3{L’1 + 0$4 = 45000
1z, + 124 = 40000
T = 15
x4 = 25000

= 45000

+ 1y = 40000 Z1,22,23,24 >0

@12y + 115 = 45000
Yy + 015 = 40000

9 = 20000
x3 = 25000

1332 + 0564 = 45000
25E2 + 1.1’4 = 40000

x9 = 45000
T =

las + 0xy4 = 45000
Ozs + 1z4 = 40000

x3 = 45000
x4 = 40000
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minimize —600x; — 500x9

subject to 3z1 + 1ao + 1a3

D

3[L’1 + 1{L’2 = 45000
12, + 229 = 40000
SRR 1 =10
—13,500,000 x5 = 15

®3{L‘1 + 1ax3 = 45000
1x1 + Ox3 = 40000

1 = 40000

= 45000
+ 1y = 40000 Z1,22,23,24 >0

@125 + 125 = 45000
925 + 023 = 40000
EEbEEE To = 20000
~10,000,000 25 = 25000

©1332 + 0564 = 45000
25E2 + 1.1’4 = 40000
x9 = 45000

000
008

® ﬁ/?sofg@ Ty = 0

3[L’1 + 0[L’4 = 45000
1z, + 12y = 40000
BRREEE

-8, 000,000

1 = 15000
rq = 25000 0

lxs + O0xy = 45000
O0x3 + 1axy = 40000
B HIBI%{E x3 = 45000
x4 = 40000
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1 +x20=0

T =T — T r1 20,2220

T +x2 <1
1 +x0 > 1

T+ xo + 233 =1,
4tz —g3=1,

—DDEFEXHMNZ2DDAEFAFWICEESIRZS
T1+2220,—x1 —22 20
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121 + 2x2 + 24 = 40 x 103

LT xsmxEDHNIE,
x4 = 40 x 10° — 127 + 225
IRDT,

1214225 >40%x10° < 24 <0
1214225 =40%10° < 2, =0
1214225 <40x10° < 24 >0
DFY,

1oy +225 <40x10% & 24 >0

MORF=THIE
Iy < 0 111?1 +2$2 =40 XlOS O)Eff‘%ck'di‘: (2131 y :1?2) 0),.5\\75{?)%)
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mimnmize EREWAE L POF AR EDEEES
—600z) — 50022 EWSZEDFYTOEE (21, 2,) &

subject to
; =0n&xx; =0
3z1+1z2+ 23 =45% 10: Tﬂ:;:[)d)ti?i;:[)
121+ 220+ 24 =40><>18' 23 =0DEE 3z 4+ 15 =45x10°
T1, 02,23, 24 20 g —0DEX g, 4220 =40 x10?
DERLIZHD
(2121,:1“2) jé BERRIRZ1ED
T57DR 5 J: 256 "
S2DDEHDEHNEDO

B:x1 =0,220 =0 Bl: 3 =0,24 =0

2 2 549 2 2 449 |
= m+ +23=45x 10° = 3x;+1zo+#=45x 103
+Ri+ w4 =40x 10° 121 + 272+ figi= 40x 10°
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